|

3




SAFETY WARNING:

1. Follow the information on the warnings appearing on the upper bunk end structure and on
the carton. Do not remove warning label from bed.

2. Always use the recommended size mattress or mat tress support, or both, to help

prevent the likelihood of entrapment or falls.

3. Surface of mattress must be at least 5 in. (127 mm) below the upper edge of guardrails.

4. Do not allow children under 6 years of age to use the upper bunk.

5. Periodically check and ensure that the guardrail, ladder, and other components are

in their proper position, free from damage, and that all connectors are tight.

6. Do not allow horseplay on or under the bed and prohibit jumping on the bed.

7. Always use the ladder for entering and leaving the upper bunk.

8. Do not use substitute parts. Contact the manufacturer or dealer for replacement parts.

9. Use of a night light may provide added safety precau tion for a child using the upper bunk.
10. Always use guardrails on both long sides of the upper bunk. If the bunk bed will be placed
next to the wall, the guardrail that runs the full length of the bed should be placed against the
wall to prevent entrapment between the bed and wall.

11. The use of water or sleep flotation mattresses is prohibited.

12. Keep these instructions for future reference.



A B C D E F G
) D | () I ))))))))))))))))))))))))' 0 ©
M6x16 M6x59 M8x60 M6x34 o917 316 @16
9Pcs 24Pcs 16Pcs 4Pcs 16Pcs 16Pcs 4Pcs
H I J K
®
4Pcs 4Pcs 1Pc 1Pc 1Pc
@
1Pc 3Pcs 3Pcs 1Pc 1Pc
@, @, @ ®
1Pc 1Pc 32Pcs 2Pcs 2Pcs






















STEP 7 Install support leg

Assembly method:

Align Support Leg (15) to the screw hole on Side Rail (11&12), use Screw (B)

to tighten downwards

QTY

L
<
=
()
e
<
T

IS
S
o)
0
X
o
=

CODE




STEP 8 Secure Bed to the Wall

Assembly method:

Attach bed to the wall for extra stability by using Connector (14) with Expansion bolt (H)

and screw (l). This step is optional.

QTY

HARDWARE

CODE




